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Name: Datum: Ergebnis:
6, 17 x 80% = 5, 18 x 60% =
0,4 % 10% = 3,63 x 80% =
9,56 x 30% = 8,22 x 20% =
9,62 x 10% = 1,19 x70% =
7,39 x 30% = 1,78 x 70% =
6,22 x 30% = 5,85 %x20% =
8,24 x40% = 3,22 % 80% =
2,55 x30% = 3,2x70% =
9,92 x90% = 2,54 x770% =
9,78 x 10% = 6,81 x 40% =
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Name:

6, 17 x 80% = 4.936

0,4 x 10% = 0.04

9,56 x 30% = 2.868

9,62 x 10% = 0.962

7,39 x30% = 2.217

6,22 x 30% = 1.866

8,24 x40% = 3.296

2,55 x30% = 0.765

9,92 x90% = 8.928

9,78 x 10% = 0.978

Datum:

5, 18 x 60% = 3.108

3,63 x 80% = 2.904

8,22 x20% = 1.644

1,19 x70% = 0.833

1,78 x70% = 1.246

5,85 x20% = 1.17

3,22 x 80% = 2.576

3,2x70% =2.24

2,54 x70% = 1.778

6, 81 x 40% = 2.724
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